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”strong = "2009|[ ] ILILILIL]"] x-morph ="OSHM:HTm” ”strong = 7595 | LILIL LI LI

x-morph = ”OSHM:HPp1cs” x-cantillationLevel = 71.1.0” ”strong = 7971 | L IILILILICIC]

x-morph = ”OSHM:HVqrmsa” “strong = "1|L L[| ]/ '] x-morph =”OSHM:HR/Sp2mp”
x-cantillationLevel ="1.1” ”strong = "853 |[ [ | x-morph = ”OSHM:HTo” x-cantillationLevel = "1.0”
”strong ="452|[ [ [l l]x-morph ="0OSHM:HNp” "strong = ”d /5030 | ILIL I I ILI]]/L ]

x-morph = ”OSHM:HTd/Ncmsa” x-cantillationLevel = 1" ”strong = 1/6440|[ ] LI/

x-morph = ”OSHM:HR/Ncbpc” x-cantillationLevel = 70.1.1” ”strong = 935 || ] 11|

x-morph = ”OSHM:HVqc” x-cantillationLevel = ”0.1.0” ”strong = 3117 |[ [ LI}

x-morph =”0SHM:HNcmsc” ”strong = "3068|[ [ [ [ ] ] ] x-morph = "OSHM:HNp”




20 CONTENTS

x-cantillationLevel =”0.1” strong = "d/1419|JLILILILILI_IL]/L]l]a” x-morph = ”OSHM:HTd/Aamsa”
x-cantillationLevel = 70.0” "strong = "c/d/3372|LILILILILILIL/LC] /L] x-morph = ”OSHM:HC/Td/VNrms
x-cantillationLevel =07 2* 10 KJV:Mal.4.6 "strong = "c/7725| LI/

x-morph = ”OSHM:HC/Vhq3ms” strong = ”3820| [ | ] a” x-morph = "OSHM:HNcmsc”[ [ I [LIL L[ ']]|stron,
x-morph ="0OSHM:HNcmpa” x-cantillationLevel ="1.1.0” strong ="5921|[ ']

a” x-morph ="0SHM:HR”_ L[] ILIL[]|strong ="1121 a” x-morph = "OSHM:HNcmpa”
x-cantillationLevel ="1.1” strong = "c/3820| L ILILl/L ][] a” x-morph = "OSHM:HC/Ncmsc”

strong ="1121|ILILILILITJ")[]a” x-morph ="0OSHM:HNcmpa” x-cantillationLevel = ”1.0”

strong ="5921| [} a” x-morph ="0SHM:HR”_ /L [LILILILILILI"I|strong ="1" x-

morph ="0OSHM:HNcmpc/Sp3mp” x-cantillationLevel ="1” "strong = "6435|[ [ ] ']

x-morph ="0SHM:HC”[ [ I Il IL]l]|strong = "935” x-morph = "OSHM:HVqilcs”

x-cantillationLevel =70.1” "strong = "c/5221 | ILILILILILILLILL/LL) x-morph = "OSHM:HC/Vhqlcs”
”strong = "853|[ | | 1x-morph ="0SHM:HTo”l [ IL[LILI'l/L1']'||strong="d/776” x-

morph ="OSHM:HTd/Ncbsa” x-cantillationLevel =”0.0” strong = 72764 || [ ] ] ']

a” x-morph ="0SHM:HNcmsa” x-cantillationLevel ="0"[]
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